Ch 2Sec3

1} wWhich of the following wasn’t something that occurred in 17877
a} The Constitution would be produced b) a convention would be held cythe Aof C
needed to be fixed d} the Bill of Rights was created
2} The Constitution is over centuries old.
a) four b) three c) two d) five
3) Which of the following is not a principle from England’s government that the framers
of the U.S. Constitution adopted?
The right to a trial by a jury of one's peers & fair punishment
Ability to request a law be changed
A lawmaking bedy made up of two parts
The coining and printing of money
4} The British legislature is known as .
a) Congress b) Commons ¢} Prime Minister d} Parliament
5) Which of the following wasn’t a reason for having secrecy at the convention?
a} to encourage more debate b) to be able to speak freely c) to decrease public
pressure d} to make agreement on important issues more difficult
6) Who is considered to be the "Father of the Constitution?”
George Washingtaon
Alexander Hamilten
James Madison
Thomas lefferson
7) The framers established a system known as federalism. Which of the following isn't a
characteristic about federalism?
a) It divides powers b} it creates a strong national government with some powers
given to the states as well ¢} itis similar to a unitary system
8) The debate over Congress and how it should be organized was settled by the
MNew Jersev Plan
Virginia Plan
Judicial Review
Great Compromise
9) Inthe , aii states would have an equal amount of representatives. In

the , the number of representatives a state gets depends upon

the state's population.
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